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Note: (a)4il questions are compulsory,
(B)Marks are indicateq against each question in square brackels.

(c) The candidate is allowed to make Suitapie Rumeric assumptions wherevey qiiired for

solving problems
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syllables, [1%5=5] [C(%g\. RV

a) Preposterous r: £
b) Bandwidth' { Y
c) Eucalyptt_;gf_‘ a ,
d} Aim %f"\ \{\;:-/k
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OR

A syllable can be divided into further components. Discuss the structure of a syllable using two examples.

[21[C02)

Q5. While language itself is arbitrary, some of the established conventions lead to the development of
other conventions. One such cottvention is the formation of words in languages. Discuss different
processes of word formation using examples. [5] 1€02)

OR

What is the difference between lexical and functional morphemes? Give one example o%_.a; free o 3
that is functional in nature. Explain with examples the difference between an empty g__r__y_morpb
morpheme. [5] [CO2]

G

%,

ould e word ‘Prerajulisation’

Q6. If in a language, ‘RAJUL’ was a root word, how many morphemes would
it English. [2] (CO2]

have? Write down all the morphemes. Use the logic of word formatio)

Q7. Consider these Swedish noun forms. Analyse the data to a ‘éﬁer the questions that follow.
[co1l A

ehbl “a car”

‘en soffa “a sofa”

en lampa “a lamp™

en stol “a chair”

en tidning “a newspapet” en katt “a cat”
lampor “lamps” bilar “cars”

stolar “chairs” soffor “sofas”

tidningar ‘‘ne:ws.papsl:érs’‘F kattar “cats”
Jampan “the lamp®™»_ bilen “the car”
stolen “the chair™", soffan “the sofa”
tidningareri"?“ newspaper” katten “the cat”
lampgfﬁé_ “th;"\‘lamps” bilama “the cars”
stolal;na\‘\‘ﬁie chairs” sofforna “the sofas”
'i@;hiqgama “the newspapers” kattarna “the cats”

a. Wh;t is the Swedish word for the indefinite article a (or an)? )
b. What are the two forms of the plural morpheme in these data? (1)

¢. What are the two forms of the morpheme that make a singular word definite, that is,
correspond to the English article ‘the’? (1)
d. What is the morpheme that makes a plural word definite? n
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